
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES

KOREAN VEHICLES

AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST

NEO CTR CO., LTD.

VISIT CTR WEB CATALOGUE

w w w .neoct r .kr



BALL JOINT

TOYOTA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBT-96R 43330-39486 LOWER R LEXUS GS 300 96-97 10PCS

CBT-96L 43340-39376 LOWER L LEXUS GS 300 96-97 10PCS

HONDA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBHO-53 51120-T2A-305 LOWER R/L ACCORD COUPE / SEDAN 13-16 50PCS

ACCORD HYBRID 14-15

ACURA TLX 15

GM

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBG-65 15687080 UPPER ASTRO/SAFARI VAN 85-05 20PCS

M14 X 1.5 SUBURBAN 92-99

ESCALADE/BLAZER/TAHOE/YUKON 92-00

C/K-1500/2500/3500(OLD STYLE) 88-02

EXPRESS, VAN/SAVANA 96-02

CONTROL ARM

NISSAN

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQN-18R 54500-BC42A LOWER R MICRA K12E 02-10 4PCS

MICRA C+C CK12E 05-

NOTE UK MAKE E11E 06-13

CQN-18L 54501-BC42A LOWER L MICRA K12E 02-10 4PCS

MICRA C+C CK12E 05-

NOTE UK MAKE E11E 06-13

MITSUBISHI

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQM-17R MR296028 LOWER R L200 K62T (K60, 70#) 96-07 4PCS

CQM-17L MR296027 LOWER L L200 K62T (K60, 70#) 96-07 4PCS

SIDE ROD

NISSAN

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CSN-36R 48510-1PA0A R NV F80 11- 6PCS

NV3500 WF80 12-

CSN-36L 48630-1PA0A L NV F80 11- 6PCS

NV3500 WF80 12-

NEW ITEMS



TIE ROD END

HYUNDAI

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEKH-55R 56825-F2000 FEMALE RHT AVANTE AD 15- 36PCS

M16 X 1.5 (50/2PCS)

CEKH-55L 56820-F2000 FEMALE RHT AVANTE AD 15- 36PCS

M16 X 1.5 (50/2PCS)

CEKH-56R 56825-E6090 FEMALE RHT SONATA LF 14- 25PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (34/2PCS)

K5 HYBRID JF 15-

CEKH-56L 56820-E6000 FEMALE RHT SONATA LF 14- 25PCS

M16 X 1.5 SONATA HYBRID (PHEV) LF 14- (34/2PCS)

K5 HYBRID JF 15-

CEKH-57R 56820-3N290 FEMALE RHT EQUUS VI 14.09- 18PCS

M14 X 1.5 (24/2PCS)

CEKH-57L 56820-3N200 FEMALE RHT EQUUS VI 14.09- 18PCS

M14 X 1.5 (24/2PCS)

 

RACK END

TOYOTA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRT-126 45503-30160 R/L CROWN/HYBRID AWS21#, GRS21#, GWS214 12- 36PCS

M16 X 1.5 LEXUS IS250/350/300H AVE30, GSE3# 13-

M14 X 1.5  - AWD

CRT-127 45503-53010 R/L LEXUS IS250/350/300H AVE30, GSE3# 13- 32PCS

M16 X 1.5  - RWD

M15 X 1.5

HYUNDAI

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRKH-59 57724-3N150 MALE RHT EQUUS VI 14.09- 32PCS

M18 X 1.5 (S/ABSORBER TYPE - AIR)

M14 X 1.5

CRKH-60 57724-3N250 MALE RHT EQUUS (3800 CC - LAMBDA 2) VI 14.09- 32PCS

M18 X 1.5

M14 X 1.5

CRKH-61 57724-3T150 MALE RHT EQUUS (3800 CC - LAMBDA 2) VI 14.02 - 14.09 32PCS

M18 X 1.5 K9 13.09-14.09

M16 X 1.5 (14MY, S/ABSORBER TYPE - AIR)

CRKH-62 57724-3T250 MALE RHT EQUUS (3800 CC - LAMBDA 2) VI 14.02 - 14.09 32PCS

M18 X 1.5 K9 13.09-14.09

M16 X 1.5 (14MY, 245 TIRE - 245/45 R19 : 275/40 R19)

STABILIZER LINK

NISSAN

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CLN-66 54618-0F000 ◈ FRONT R/L MISTRAL R20 94-97 50PCS

54618-MB40A M12 X 1.25 TERRANO2 R20 93-06 (70/2PCS)

M10 X 1.25 CABSTAR F24M 06-

CLN-74R 56261-3TA0A REAR R ALTIMA SEDAN 13-15 40PCS

56261-3TA0C MAXIMA 16- (80/2PCS)

CLN-74L 56261-3TA0B REAR L ALTIMA SEDAN 13-15 40PCS

56261-3TA0D MAXIMA 16- (80/2PCS)

MAZDA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CLMZ-40 BP4K-28-170H ◈ REAR R/L MAZDA 3 04-11 25PCS

BP4K-28-170G MAZDA 3 SEDAN/HATCHBACK 12-13 (50/2PCS)

MAZDA 5 06-10

MAZDA 5 12-15



STABILIZER LINK

HYUNDAI

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CLKH-37 55530-3M000 REAR R/L GENESIS 07-14 20PCS

M10 X 1.25 EQUUS  09- (40/2PCS)

K9 12-

BUSH

TOYOTA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVT-82 48061-28040 FRT LOWER ARM, LITE/TOWNACE CM7#, 8#, KM7#, 8# 99-07

No.1 RH LITE/TOWNACE NOAH, V CR4#, 5#, KR4#, 52, 96-07

SR40, 50

T.U.V KF60, 7#, 8#, LF6#, 7#, 8#, 96-07

RZF61, 71, 8#, YF60, 80

DELTA WAGON CR40, 41, 50, 51, KR41, 96-98

(DAIHATSU) 42, SR40, 50

CR40, 42, 50, 52, KR42, 99-02

SR40, 50

CVT-85 48815-52070 FRT STBILIZER BAR PROBOX/SUCCEED NCP5#, NLP51 02-14

No.1

ISUZU

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVIS-4 8-94375105-0 LATERAL ARM BIGHORN/TROOPER UX 92-97

BIGHORN/TROOPER UY 98-02

VEHICROSS VX 99-01

SUBARU

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVSU-14 20254-AE050 RR TRAILING ARM, LEGACY B12 97-03

FRT B13 03-09

HONDA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVHO-47 51392-S0X-A01 FRT LOWER ARM LAGREAT RL1

ACURA MDX 01

ODYSSEY 99-04

PILOT 03-08

CVHO-48 51393-S0X-A02 RR LOWER ARM LAGREAT RL1

ODYSSEY 99-04

HYUNDAI

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVKH-186 55513-2B200 RR STABILIZER SANTAFE CM 09-12

SORENTO XM 09-12

CVKH-187 54584-C1000 FRT LOWER ARM(G) SONATA LF 14-

SONATA HYBRID LF 14-

K5 JF 15-

CVKH-188 54551-C1000 FRT LOWER ARM(A) SONATA LF 14-

 SONATA HYBRID LF 14-

K5 JF 15-

CVKH-189 54183-2Y000 FRT STABILIZER BAR TUCSON LM 13-15

 SPORTAGE SL 13-15



BUSH

KIA

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVKK-91 54813-1Y000 FRT STABILIZER MORINING TA 11-14

BAR 15-

SSANG YONG

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CVKS-1 6313230385 FRT STABILIZER ISTANA 95-03

BAR KORANDO 96-05

MUSSO 96-05

MUSSO SPORTS 02-06

RODIUS/STAVIC 03-

RODIUS/STAVIC II 13-

CVKS-2 6613243050 RR LEAF SPRING ISTANA 95-03

CVKS-3 6613233185 RR STABILIZER BAR ISTANA 95-03

CVKS-4 6613333114 FRT UPPER ARM ISTANA 95-03


